Chapter 1
200:  Evaluate 
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400:  Evaluate 
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800:  18 less than a number c 





(18 – c)

1000:  The sum of 7 and 3 times a number b is 12


(7 + 3b = 12)
Functions
200:  Is the following a function, yes or no?  Why or why not?

	INPUT
	OUTPUT

	25
	14

	30
	13

	30
	12

	35
	11










(No, 30 has two outputs)

400:  Is the following a function, yes or no?  Why or why not?

	x
	1
	3
	5
	7

	y
	15
	20
	15
	20









      (Yes each input has 1 output)

600:  Make a table.  Identify the range and graph.



y = 2x

Domain:  0, 1, 2, 3


(Range:  0, 2, 4, 6)
800:  Write a rule for the function:

	Input, x
	1
	2
	3
	4

	Output, y
	5
	10
	15
	20






(y = 5x)

1000:  Make a table and identify the range.  Graph the function.
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Domain:  0, 2, 4, 6


(Range:  2, 3, 4, 5)

Chapter 1 (continued)
200:  Evaluate 
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400:  Evaluate 
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when a = 0.9 and b = 0.3
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600:  5[(4 + 9) – 3²] 
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800:  18 more than 
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of a number y 




(18 + 
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1000:  The difference of 14 and twice a number x is at least 20
(14 – 2x > 20)

Fractions
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Fractions (continued)
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Chapter 2
200:  Order from least to greatest:  
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Chapter 2 (continued)

200:  Order from least to greatest:




[image: image37.wmf]8

1

,

3

.

1

,

25

.

0

,

4

5

-






(
[image: image38.wmf]3

.

1

,

25

.

0

,

8

1

,

4

5

-

)

400:  
[image: image39.wmf]10

)

11

(

5

+

-

+

-








(-6)

600:  
[image: image40.wmf]x

y

-

-

-

9

    x = – 5, y = 3




(-7) 

800:  
[image: image41.wmf]5

)

2

(

8

×

-

¸








(-20)

1000:  Between which two integers does 
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(6 and 7)

Distributive Property

200:  
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(7x + 48)
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Chapter 3
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(w = 9.25)
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(d = 13)
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Chapter 3 (continued)
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(no solution)
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(any number)
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_1324710046.unknown
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_1324710099.unknown

_1324710062.unknown
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_1324701654.unknown
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